&] \ @ ﬁ ‘ Multiplique por poténcias de dez (numero ausente)

Nome: Encontro: Data: Pontuacio:
4,714 x = 4714 5,142 x = 5142
5,765 x = 5765 5,704 x = 5704
2,126 % =212.6 9,812 x =98.12
3,96 x =39.6 5,818 x = 5818
7,392 x =739.2 9,416 x =94.16
10, 814 x =108.14 3,259 x =325.9
9, 448 x =944.8 9,398 x = 9398
1, 466 x = 14.66 8, 139 x = 8139
5,214 % = 5214 2,183 x =21.83
5,253 x =52.53 4,136 x =41.36
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& % @ a ‘ Multiplique por poténcias de dez (numero ausente)

Nome: Encontro: Data: Pontuacao:
4,714 x 1000 = 4714 5,142 x 1000 = 5142
5,765 % 1000 = 5765 5,704 x 1000 = 5704
2,126 x 100 = 212.6 9,812 % 10 = 98.12
3,96 x 10 = 39.6 5,818 x 1000 = 5818
7,392 x 100 = 739.2 9,416 x 10 = 94.16
10, 814 x 10 = 108.14 3,259 x 100 = 325.9
9,448 x 100 = 944.8 9,398 x 1000 = 9398
1,466 x 10 = 14.66 8, 139 x 1000 = 8139
5,214 x 1000 = 5214 2,183 x 10 = 21.83
5,253 x 10 = 52.53 4,136 x 10 = 41.36
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